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Geometry: Practice and Present Mean Proportional Problems

1. AABC is a right triangle, £C is a right angle, and altitude CD 1L 4B . If AD 3
and CD = 6, find DB.

2. AABC is aright triangle, £C is a right angle, and altitude C5 L 4B . If AB = 8
and AC = 4, find AD.

3. AABC is a right triangle, £C is a right angle, and altltude CDL1A4B . IfAC =10
and AD = 5, find AB.



4. In right AABC, Zb -is the altitude drawn to hypotenuse 4B . If CD = 6, AD = 3, ‘
and DB = 5x - 3, find x.- \, 2

5. Inright AABC, CD is the altitude drawn to hypotenuse 28 . AC = 12 and AB =
25. If BD is represented by x, write and solve an equation to find x. -
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6. In right AABC, CD is the altitude drawn to hypoténuseXE ./fCD =3 cm, and if
DB exceeds AD by 8 cm, find AD and DB.
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Geometry: Practice and Present fiean Proportional Problems

1. AABC is a right triangle, £C is a right angle, and altitude D L 4B . If AD = 3
and CD =6, ﬁndQDB.
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2. AABC is a right triangle, £C is a right angle, and altitudeCD L 4B . If AB = 8
and AC =4, find AD.
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3. AABC is a right triangle, 2C is a right angle, and altitude CD L 4B . If AC = 10
and AD = 5, find AB.
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4. In right AABC, CD s the altitude drawn to hypotenuse 73 . If CD = 6, AD = 3,
and DB = 5x - 3, find x.
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5. Inright AABC, CD is the altitude drawn to hypotenuse 75 . AC = 12 and AB
25. If BD is represented by x, write and solve an equation to find x.
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6. In right AABC, CD s the altitude drawn to hypotenuse 4B . If CD = 3 cm, and if
DB exceeds AD by 8 cm, find AD and DB.
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